

圧力容器の伸縮継手

正 誤 票

区分	位 置	誤	正
本体	6.2 a) 1)	タイプ 2 : $n_2 = 10\,000 - 1\,000 = 9\,000$, $S_{t1} = 0 + -350 = 350$	タイプ 2 : $n_2 = 10\,000 - 1\,000 = 9\,000$, $S_{t2} = 0 + -350 = 350$
	6.5.5 a) 3)	$\sigma_t = 0.7[\sigma_3 + \sigma_4] + [\sigma_5 + \sigma_6]$	$S_t = 0.7[\sigma_3 + \sigma_4] + [\sigma_5 + \sigma_6]$
	6.6.2 c) 2)	$\sigma_3 = \frac{r}{2nt_p} \left(\frac{D_m - r}{D_m - 2r} \right) P$ $\sigma_3 \leq S$ とする。	$\sigma_3 = \frac{r}{nt_p} \left(\frac{D_m - r}{D_m - 2r} \right) P$ $\sigma_3 \leq S$ とする。

平成 22 年 2 月 1 日作成